probability

probability

listing

objects

reasoning

times

Probability — the chance
that something will
happen

Outcome — the result of
an event that depends on

BEvent — the outcome of a

Chawce — the likelihood of
a particular outcome

Frequency tree — used to
record and orgavise events

BEuumerate — av ordered
Set — a collection of

Venn diagram — a diagram
organising sets, enclosed
within a mmiversal set

Possibility space, sample
space — a list of all
possible outcomes of an
experiment e.g. tossing a
coin (heads, +ails)

Equally likely outcomes -
events that have the
same theoretical
probability (or likelihood)
of oceurring

Theoretical probability -
determived on the basis of

experimental probability -
determined on the basis of
+he results of aun
experiment repeated many

Bias — a built in error
that makes all values
wrong by a certain amounnt

Relative frequency - how
often something happens
divided by all outcomes

O |

1

Raecond. deacnibe and ar% the paequency o sutcomea o probobility I

oauments uaing tablea gaguency theea 1

W mﬁg m% % prohobilition o an edhoustive adt o mutuodly :

am 1

Wmmmo@mwmmmummbmm, :

1

Conabuct thesnaticol psasibility apaces gor combined expaumenta. with, equoly,

likaly sutcomen and. ae theae to colcudote the probokilityy o and

dependant oew% mnmw waing tee diograma. and I

_5 A A S o !

_______________________________________________ d

| Construet sample space dagrams T & e s }

| The. possib. cuksames from vding o dez raldon 1o B the I betveen the £ Fare |

1 fﬁ f g autcomes § = o, fre poste |

| @ {540\ (5 5 1[2]3]|a]s|s attomes |

| R 2 |26 [an [ e [er |

| Sapewpamedivir: ponie s 2 B - |

i uﬁiﬁf‘;ﬁ“ ‘E‘El T ar | ar 4 S~ { K 3 5144, 5 G, I, 2T, 3T, 4T, 5T, 67} |

oufames from dverts =

I |

bl

| Probabilty from sample space hl & the.prebably . an ateome T dre fives |

| The peesible ufpomes Frem rolg @ dee nd& an e rumber and o tak? RUEN PR Im'r Maerdtor |

| w . ® the st |

E = The & the st P - f

153 ARARTLRELS ctden i P (Even romber ond Tak] = 3. |

- 5 : - #L- - t i represerts e ¥ the tod rurber |

I E‘._ E JE {:-TJ 3 @ qestin P r:?_"-'mrl I'\’.‘ __':'5 .\ There are fwehe  of outcomes :

l = the wwent gked for it ulomes |

l__________________________________________ ________________________I::: e :l

: fm tobles The ewerit I: Product Ruke l

Iy

: Cor | B | Wk | Tt | P (Cvlwk tosrod = 2. I '

— — I]  The rumber The: rumier I

| Bog | O 24 4 53 100 | cfitemsn ¥ of teme m I

: Gk I 11 1 10 47 \ 4 N II 2wl a wrl b :

| b A pl ] The totd n nl: :| |

THITEE 0 wt |

I Tod | 7 = - I The: fotal rumber of feme ] !

_________________________________ - ____1
|

T 100 suderils were questioned £ ey poued bodrnrion or sl 1o Zeere clo
Probabilty from Vern diagrams u e .

The: whok: o reldes

40 werl, zenmres 25 w2l 1o boadkrlion ond 1 werd 1o kol

The: whoke curve. rcbdes

ewenore Thal werd
SR Swmmng

repriseris bolh

EBadmrim ey that want fo

[ The rumper ot represents thos

Ly OND bacimrion

The niversal set s the symbol & — the means
EVERYTHING i the Venn dagram s n this set

O sef. 15 a colection of things — you e
sels vside curly brackets { 1

& = {the numbers between | and 50 inchswe}

ard 50 nelidng those numbers

|

|

|

|

|

|

|

|

: My sets can rebde every number between |
|

|4 - Sapare rumters)
1401490623649
|

|

|

O the numbers n set A are squore number
and between | and 50

|
' |
' |
' |
l [
| Becouse ||:!{!‘.'i:‘:\::‘2“" L~ bodmrim P s ' I
| eokuise gk swmmig by Bavoee || ded beth we (st SimmMng) = ﬂ I
| Llig couke R baderf on 100 |
| by 35- Il |
|
The riterzciion -‘ !
: 46w |
|
|

theat il ity bodewlion o wemewg 00 -39 11— M

- g| € = {therumbers belween lond 15 rehsne} |

- o
Union of sets A -iksds) B - D) |
Elemeris  the wion |

|
ntersection ot Sets i
|
Elements n the ntersection are @ |
nel AGNDslB — | H““‘HbansatACR;at ; - }cfﬁmigqggm |
= p B 510,153,496
The notation for ths s A N B ¥ ‘/—'—' . T |
‘ o 4> Rordgh o 1|
1: fhe relden fortre s AU B ek of 5 Rl of 3between ||
|
i |
I I
Il |

& = {the rumbers between and 15 nchse}
A - {Milpesof 5} B = {Milpes of 3}

ond

&fa ) B
¢ =T @ ‘ﬂ This Vern shows e rumber of ebmerts in edch et
A
G| e 4
NG

|
i |
Tre eementn AN B s 15 | '
Inthis exap there ' only one } \L \//
|

rumber that s both a muttipe of 3
and a multiple of 5 between | and 15

-

- (I — A I
A o ) Head—jj Head Head, Head----- - 05x05=025
WMultiply probabilities along the bravches y TTgE—= Tall  Head Tail --—--» 05x0.5=0.25
Add probabilities down columns o Add

Fractions are often used in place of decimals along 0\ 05 » Head | Tail, Head ----- ~ 05%05=025
5

B Tl

bravches - remember to multiply fractions by 0. Tail | Tail, Tail -----~ 0.5x0.5=025

multiplying the wamerators together, multiplying 1.00

devowminators then simplify




